
dk;kZy; uxj iapk;r] cklqfdukFk
vfrvYidkyhu fufonk lwpuk la[;k&08@2018&19

,rn~ }kjk vf/kd`r foØsrk@fuekZ.kdrkZ@vkiwfrZdrkZ dks lwfpr fd;k tkrk gS fd uxj iapk;r] cklqfdukFk ds 
fy, o"kZ 2018&19 gsrq fuEufyf[kr [kjkc pkikuyks a dh ejEefr gsrq lkefxz;ksa dk nj lhycan fyQkQk esa 05-07-
2018 dks vijkg~u 03%00 cts rd eqgjcan nj fufonk vkeaf=kr dh tkrh gSA izkIr fufonkvksa dks fnukad 06-07-
2018 dks 11%00 cts iwokZg~u eas bZ&izksD;kseasV lfefr ds le{k [kksyk tk,xkA

dz- lkexzh dk uke vnn~ vxz/ku
1 32 mm Dia G.I. Pipe (ISI Mark  10 Feet with Socket(3 meter long) Each

`25000/-

2 Hexagonal bolt M 12 x 1.75x40 mm long common to Mark ii & iii(ISI Mark) Each
3 Hexagonal nut M 12 x 1.75(ISI Mark) Each
4 High tensile bolt M 10x1.5x40 long(ISI Mark) Each
5 Nyloc nutt 10 x1.5 Each
6 Handle axel (stainless steel) Each
7 Ball Bearing 6204 Z Each
8 Space for Handle Each
9 Chain with coupling Each

10 Hexagonal bolt from cover M 12x1.75 mm long Each
11 Nitrile Rubber cup washer for mark – ii and iii Each
12 Nitrile Sealing ring mark – ii Each
13 Nitrile Rubber sealing big for lower valve M – II Each
14 Nitrile Rubber sealing small for upper valve M – II Each
15 Hexagonal rod coupling (m 12x1.5x50 mm long) Each
16 Front Cover(GI) Each
17 Head Assembly Each
18 Water tank assembly mark-II(GI) Each
19 Connecting rod 3 Mtr long with coupling and nut(eletrogalvanised) Each
20 Cylinder Assembly  complete set for mark – II (ISI Mark) Each
21 Upper valve assembly complete set for India Mark – II(ISI Mark) Each
22 Lower valve assembly complete set for India Mark – II(ISI Mark) Each
23 Reducer cap for cylinder mark-II(ISI Mark) Each
24 Upper valve guide (GM) Each
25 Third plate for head assembly (galvanized) Each
26 Cylinder body with brass liner for 11.1 II with reducer cap for top & bottom Each
27 Gun metal spacer Each
28 Nitrile rubber “O” ring(volume-65) Each
29 Nitrile rubber cup washer (volume-50) Each
30 Nitrile sealing ring mark – III for (Volume-65) Each
31 Cylinder liner volume 32 mm Each
32 Handle Each
33 S.M. third plate Each
34 S.M. titan(rubber gas ket) Each
35 Rod cupling GI Mark Each

% fufonk dh 'krsZ %&

1) lkexzh;ksa dk nj lHkh dj lfgr ,oa uxj iapk;r] cklqfdukFk dk;kZy; igq¡pkdj nsuk gksxkA
2) fuca/ku] vk;dj isudkMZ ua] th0,l0Vh0 iathdj.k izek.k i=k fufonk ds lkFk nsuk gksxkA
3) lkexzh;ksa dh ek=kk ,oa la[;k vko’;drk vuqlkj dk;kZy; vkns’k ds ek/;e ls le;&le; ij fn;k tk,xkA
4) vkiwfrZ vkns’k ,d lIrkg ds varxZr lHkh okafNr lkexzh;ksa dh vkiwfrZ v/kksgLrk{kjh ds dk;kZy; esa djuk vfuok;Z gksxkA
5) =kqfViw.kZ lkexzh;ksa dh vkiwfrZ ds fy, fufonknkrk ftEesnkj gksxkA
6) fufonk dks fcuk dkj.k n’kkZ;s jn~n djus ;k ,d ls vf/kd laosndksa ds chp dk;Z cakVusa dk vf/kdkj lqjf{kr jgsxkA
7) fdlh Hkh fufonk dks Lohd`r ;k vLohd̀r djus dk vf/kdkj v/kksgLrk{kjh dks lqjf{kr gksxkA
8) dzekad 1 esa lkexzh;ksa dk r̀rh; i{kh; tk¡p izfrosnu lefiZr djus ds ckn gh Hkqxrku fd;k tk,xkA
9) ;g nj ,d o"kZ ds fy, ekU; gksxkA 




